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This paper consists of hundred multiple-choice type of
questions.
At the commencement of examination, the question booklet
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to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do notaccept
a booklet without sticker-seal and do not acceptan open
booklet.
Tally the number of pages and number of questions in
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correct booklet from the invigilator within the period
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using white fluid, you will render yourself liable to
disqualification.
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at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet on
conclusion of examination.
Use only Blue/Black Ball point pen.
Use of any calculator or log table etc., is prohibited.
There are no negative marks for incorrect answers.
In case of any discrepancy in the English and Hindi versions,
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FORENSIC SCIENCE
PAPER - II

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Expert witness :
(1) is nowhere defined in law.
(2) Legally defined U/S 45 IEA (Indian Evidence Act).
(38) Legally defined U/S 176 Cr PC (Criminal Procedure Code).
(4) Legally defined U/S 320 IPC (Indian Penal Code).

2. Match the following :

List - I List - II
(a) Karl Landsteiner (i)  Anthropometery
(b) Mullis (i) Lie detection
(c) John Larson (iii)y ABO blood group system
(d) Bertillon (iv) PCR
Code :
@ ) © @
W) G G 6 @
@ O @ @) @)
@) @ G @) 0
@) G @) @ 0
3.  The Principle of exchange was authored by which of the following ?
(1) Hans Gross (2)  Sir Francis Galton
(3) Henry Faulds (4) Edmond Locard

4.  In photography, high ISO numbers are used in which of the following ?

(1) High lighting conditions (2) Low lighting conditions
(8) Average lighting conditions (4) Conditions where flash is used
5.  The “Innocence Project” with the purpose to re-examine post-conviction cases and to provide
conclusive proof of guilt or innocence was first carried out in a university located at :
(1) London (2) New York (3) Amsterdam (4) Delhi
6.  Which of the following explosives was first prepared for medicinal use in 1899 ?
(1) RDX (2) PETN (3) ANFO (4) HMX
poszss [ TTHANHLAAN : Fapec
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1.

6.

ﬁ@ﬂaw:
(1) 38 el oft s & aRefia @ e e

(2) YR WeF SUEH (STR.E.T.) i ¥R 45 o i 9 9 IR
(3)  eAufyek gfskan Gfear (Hsd.E.) i &/ 176 & 3189 St ®9 & affid
(4) R g€ e (STE.H.H) 1 91 320 & AL HrA €9 F qRAa
Ffafad 1 gafed Hifse
e - 1 et - 11
(a) HA ASRIT () TR
(b) Hfce™ (i) s fecwm
(c) S aA (i) TS, s YU faed
d) wféaH (iv) RHLR
<
@@ (b) (9 (d)
1) (@v) (@) (@) ()
2 @ @) (@) (iv)
3) (@) (@) @) @
4) (@) @) @ @
freafafaa 9 9 =9 ‘T fifaua e o=’ & o § 2
(1) =TT 2) T wiTEE e
(3) TR weed (4) TeHE AHE
TR H, 359 oT%.TH. 371, He ffated § § fread wim § o S § 2
(1) =3 g ot Tearfaat (2) E Y Hi feafaat
(3) id wehTe it Tearfaat (4) U fefaat STl v o1 yEnT foan s €

g B o S1E IS bt TF: Sid w31 et A1 6 B T Hed 7 6 3w ¥ e
g ol Ygdl Tefafad § 9 el fed favafawmer § d=ferd st T8 off ?

(1) e (2) =R (3) 3THHEIEH (4) fooeft

frafafed & 9 faa foomes =1 av 1899 § siueitg 39am & fou ugelt oIk 99r T o ?
(1) STELTH. () WIAT (3) TEAUES (4) TATA.TH.
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7.  In which language “Tswett” has published his work on chromatography for the first time ?
(1) French (2) German (3) Russian (4) Dutch
8. In which year Sir Robert Robinson was awarded Noble Prize in Chemistry “for his
investigation on plant products of biological importance, especially the alkaloids” ?
(1) 1946 (2) 1947 (3) 1948 (4) 1949
9.  Oath is administered to a witness before recording his statement. What purpose does it serve?
(1) It puts the witness under fear of God, so that he speaks the truth.
(2) Itis merely a relic of the past which serves no useful purpose today.
(38) Itis done mainly to satisfy the lawyer of the opposite party.
(4) It makes a witness liable to perjury if he does not speak truth.
10. The term ‘Eddy Diffusion” is used in which of the following analytical techniques ?
(1) Microscopy (2) Chromatography
(3)  Spectrophotometry (4) Differential Thermal Analysis
11. Write the correct sequence for the set up of a HPLC system :
(a) Solvent reservoir (b) Recorder () Pump (d) Guard Column
(e) Detector (f) Injector (g) Analytical column
Code :
1) (@), ) (©) (g) (d), (b), () (2)  (©) @) () (8) (d), () (b)
3) (@, © @, &) @, (@), (b) ) @ © @, @, (@) @), )
12. Thermal Conductivity Detector in Gas-Chromatography consists of identical
filaments.
(1) Two (2) Four (3) Six (4) Eight
13. Assertion (A) : Derivatization prior to gas chromatography is often desirable.
Reason (R) : Itimproves the thermal stability of compounds, particularly those containing
polar functional groups.
Code :
(1) (A) is correct, but (R) is wrong. (2) Both (A) and (R) are correct.
(3) (A) is wrong, but (R) is correct. (4) Both (A) and (R) are wrong.
14. Dark current is associated with which of the following ?
(1) Photomultiplier tube (2) Diffraction grating
(3) Atomizer (4) Band pass filter
poszss [ TTHANHLAAN ‘ Fapec
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15. In FTIR spectrophotometer DTGS detector operates at
(1) Ambient temperature (2) Liquid Nitrogen temperature
(3) Liquid Oxygen temperature (4) Liquid Hydrogen temperature
16. In Neutron Activation Analysis, Crompton scattering results in which of the following ?
(1) Interference with the resulting signal
(2) Increase in peak intensity
(8) Increase in signal to noise ratio
(4) High resolution
17. Inelectrophoresis, with the increase in applied voltage there is also increase in flow of current.
The increase in flow of current results in :
(a) More generation of heat.
(b) Increase in buffer viscosity.
(c) Fast movement of ions.
(d) Works best with thermally instable compounds.
Code :
(1) (a) and (b) are correct. (2) (b) and (d) are correct.
(3) (a) and (c) are correct. (4) (a), (b) and (c) are correct.
18. Performing electrophoresis on agarose gel where two electric fields are applied alternately at
different angles for a defined time period, such an electrophoretic technique is known as :
(1) Pulsed-field gel electrophoresis
(2) Capillary electrophoresis
(3) Two dimensional gel electrophoresis
(4) Gradient gel electrophoresis
19. Many forensic scientists keep a hand magnifier with them for preliminary examination of
some exhibits, such as tattooing around a gun-shot hole in clothes. In connection with hand
magnifier, which of the following statements is correct ?
(1) The object is within “F’ of the lens and it forms large virtual image.
(2) The object lies between ‘F” and “2F" and real image is formed at a distance greater than
2F.
(3) The object is at “2F" and the image is also formed at “2F".
(4) The object is beyond ‘2F" and the image is formed between ‘F" and “2F'.
Where ‘F’ stands for focal length of the hand magnifier.
poszss || NLITIVRUR 6 Faper
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20. Polarising microscope has been used to study which of the following ?
(1) Density of soil particles (2) Texture of soil particles
(8) Presence of humus in soil (4) Presence of some minerals in soil
21. Which of the following reagents are used for precipitating DNA ?
(1) Ethanol (2) Methanol (3) Chloroform (4) Phenol
22. STR DNA analysis can help in determining which of the following ?
(1) Age of an individual (2) Race of an individual
(3) Sex of an individual (4) Height of an individual
23. Assertion (A) : In cases of mass disaster involving very high temperature incidents, teeth is
considered most suitable material for DNA analysis.
Reason (R) : Cellular material present in the pulp cavity may remain unaffected by the
extreme conditions.
Code :
(1) Both (A) and (R) are incorrect. (2) Both (A) and (R) are correct.
(3)  (A) is correct but not (R). (4) (R) is correct but not (A).
24.  Which of the following is correct about the DNA finger print pattern of a child ?
(1) Itis exactly similar to the DNA finger print pattern of both the parents.
(2) 50% bands of DNA finger print pattern of the child will be similar to mother and rest
similar to father.
(3) 100% similar to the father’s DNA finger print pattern.
(4) 100% similar to the mother’s DNA finger print pattern.
25.  Which of the following techniques is used in DNA finger printing ?
(1) Northern Blotting (2) Western Blotting
(3) Flow Cytometry (4) Southern Blotting
26. Which of the following methods is used to locate specific gene in chromosomes ?
(1) In situ hybridization (2) Colony hybridization
Dot blot technique (4) Western Blotting
poszs H|H|H||IHHIIIHII\HIHI\I“\\||\|“H||\|\|H|\ ; Fapec
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24.
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26.

oIS heiTT Geacel o1 garT fefarad | 9 forden s1ea A o o foran Siran €2
(1) T H H =TT (2) T U FH TAEE
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frefafaa § 9 fog it 1 ST ST & 7890 & fau fewan S & 2
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27.

28.

29.

30.

31.

32.

Which of the following may be categorised as immunogens ?

(a) Hapten S (b) Antigen A () Anti Rh (d) Antigen B
Code :

(1) (), () and (d) are correct. (2) (), (b) and (c) are correct.

(3) (a), (b) and (d) are correct. (4)  (b), (c) and (d) are correct.

Which of the following test is used to determine the blood group from a blood stain ?
(1) Haemin crystal test (2) Kastle-Meyer test

(3) Lattes crust method (4) Luminol spray test

The restriction enzymes were discovered by which of the following scientists ?
(1) Watson and Crick (2) Boyer and Cohen

(3) Nathan, Arber and Smith (4) Jacob and Monad

Which of the following can distinguish human salivary amylase and human pancreatic
amylase ?

(1) Starch-iodine assay (2) Phadebas assay

(3) RNA based assay (4) Use of anti human salivary amylase antibodies

Cyanide derived from antimortem toxic exposure may be lost rapidly with advanced
decomposition of the body. Still in which of the undermentioned organ toxicologically
significant levels of cyanide may be found ?

(1) Heart (2) Kidney (3) Spleen (4) Lungs

N-demethylation of cocaine gives which of the following metabolite ?
(1) Ecgonine methyl ester (2) Benzoyl ecgonine

(3) Cocaethylene (4) Norcocaine

vosass | {1IEHTHANNAN 1



27.

28.

29.

30.

31.

32.

Frefafed & 9 fF8 SRS o 9 § afied fRan ST Hehel © 2

(@) ®<AS (b) T=ISH A (c) T=IRh (d) TESAB
&e :

(1) (a), (c) AR (d) T &1 2 (a), (b) W () & €1

(3) (a), (b) 3 (d) W T (4)  (b), (c) 3R (d) T &

fordt T & ¥l 9§ T 99E 1 (9R0 w o fau fefafed § 9 feg weon 6 3w fean S
g?

(1) A forea wam (2) FHHA-TIR TET0
(3) weH W fafy (4) TS ® e

fifgm T=igg =t @ fefatead 3§ § fa Smfes g i T o ?
(1) dreHd iR fnsk (2) 9RR SR wA
(3) e, TR 3iR feme (4) e 3R HAE

frefafed & 9 s 7 dE THEOE I A STRE THRAE H 3{d L 9ohdl § ?
(1) wWH-IEER Wy (2) TeeH W
(3) SRTAT, fUmia wieo (4) T AN THECH T=Iare! Ut w1 39anT

TG ¥ Teal IEAEE 1 faured gued IRR % sTosed & @y oSt ¥ fagqw & S g1 R o
frfafed § 9 fg o § fau fagm 1 gfc @ 9eRe &1 S @i i g § 2

1) =A (2) fore (3) it 4 WS

I 1 TA-fefiemse™ frafafed § @ H-91 ST=@e a9md € 2
(1) THIAREA HaEda TR (2) SISTaA T
(3) RIRIEAEAA (4) ERIRA
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33. Match the THC content in cannabis plant parts :
List - I List - II

(a) Pistillate Flower () -2%
(b) Leaves (i) 10-12%
(c) Stalks (iii) 0.1-0.3%
(d) Roots (iv) < 0.03%
Code :

@@ (b) () (d)
1 6@ @ @) G
2 @O @ (@Gv) (i)
G @ @) @ @)
@ Gv) @ @ ()

34. Which of the following drugs of abuse is over 100 times as potent as morphine ?

(1) Fentanyl (2) Psilocybin (3) Mescaline (4) Mandrex

35. Pristane and Phythane are present only in which of the following ?
(1) Gasoline (2) Heavy petroleum distillate
(3) Light petroleum distillate (4) Medium petroleum distillate

36. Heneicosane is a characteristic component of which of the following ?

(1) Kerosene (2) Diesel (3) Petrol (4) Aviation Fuel

37. Denarcotized opium is prepared by treating opium with which of the following ?

(1) Petroleum ether (2) Chloroform (3) Benzene (4) Acetone

38. After smoking of the opium the left out residue is known as
(1) Raw opium (2) Opium Dross
(3) Prepared opium (4) Deodorized opium

39. Toddy is manufactured from which of the following ?

(1) Rice (2) Palm (3) Wheat (4) Molasses

40. Pyknometer method is used to estimate which of the following property of alcoholic beverage?

(1) Ethyl alcohol content (2) Total acidity
Volatile acidity (4) Higher alcohol content
o NN 2
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34.

35.

36.

37.

38.

39.

40.

i % 919 & feedl § Awa . 9@ i gafea wife

gt - 1 gt - 11
(a) Toicle g G 1-2%
(b) ufEr (i) 10 - 12%
) @™ (i) 0.1 - 0.3%
d) (iv) < 0.03%
<< :

@@ (b) (9 (d)
1) @ @ @) Gv)
2 @O @ @v) (i)
®) @) @ @ @)
4)  (@(v) @@ (@) (i)
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41. For the extraction of metallic poison from viscera dry ashing method is not recommended for
which of the undermentioned element ?

(1) Copper (2) Mercury (3) Lead (4) Cadmium

42. Name the colour test in which the reagent is made up of Selenous acid :
(1) Mecke’s test (2) Marqui's Test (3) Van-Urk’s Test (4) Chen’s Test
43. Which of the following is correctly matched ?
List - I List - II
(Chemical group) (Examples)

(a) Pyrethroids (i) Endosulfan

(b) Phosphines (i) Diazinon

(c) Organophosphorus (iii) Lenacil

(d) Chlorinated hydrocarbon (iv) Zinc phosphide

(v)  Deltamethrin

Code :

@ () © @

O © @ @ 0

@ ) ) @ (i)

@) G @) ) (@)

@) @ @ O

44. Parathion is metabolised to which of the following ?

(1) p-nitrophenol and diethyl phosphate

(2) o-nitrophenol and ethyl phosphate

(3)  o-nitrophenol and methyl phosphate

(4) m-nitrophenol and dimethyl phosphate

45. Blackening around gun-shot holes is clothes, means :
(1) Deposit of smoke (2) Deposit of lead vapours
(3) Deposit of black powder (4) Lead ring / Dirt ring around the hole
46. Assertion (A) : The firing - pin marks found on a fired cartridge case by a hammerless
shotgun are both impressed and striated.

Reason (R) : In a hammerless shotgun, the hammers are hidden from view and move to
cocked position when the breech end of the barrel is moved upward for
re-loading.

In the context of the two statements, which one of the following is correct ?

(1) (A) is correct, but (R) is wrong. (2) Both (A) and (R) are wrong.

(3) (A) is wrong, but (R) is correct. (4) Both (A) and (R) are correct.
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47. Florence test for the detection of seminal stains depends on the formation of :

(1) Choline iodide (2) Hematin

(3) Seminal vesicle specific antigen (4) Creatine phospho kinase
48. Regarding Gustafson’s method :

(a) It can be used to estimate age in both living and dead.

(b) It can be used to estimate age only in living.

(c) One of the criterias are secondary dentin formation.

(d) Single most reliable criteria is root transparency.

Code :

(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.

(3) (c) and (d) are correct. (4) (a) and (b) are correct.
49. Stack’s method is used for :

(1) determination of age from size and weight of teeth.

(2) determination of sex from size and weight of teeth.

(8) Corroborating the age estimated by Gustafson’s method.

(4) determination of age from long bones.
50. Outermost layer of hair is known as :

(1) Medulla (2) Cortex (3) Cuticle (4) Pigment layer
51. Consider the following statements regarding Coir :

(a) Comes from husk of coconut.

(b) Dark brown or opaque.

(c) Chemical tests for lignin are negative.

(d) Very light and elastic fibre.

Code :

(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.

(3) (c) and (d) are correct. (4) (a) and (b) are correct.
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52. Assertion (A) : Urine stains can be detected by radio immuno assay.

Reason (R) : Urine contains a high molecular weight glycoprotein Tamm - Horsfall Protein
(THP).

In the context of two statements, which one of the following is correct ?

(1) (A) is correct, but (R) is wrong. (2) Both (A) and (R) are correct.

(3) (A) is wrong, but (R) is correct. (4) Both (A) and (R) are wrong.

53. Which type of finger print pattern among the following pattern types is found to be the most
common ?

(1) Tented arch (2) Central pocket loop

(3) Twinned Loop (4) Whorl

54. Assertion (A) : Evidence with individual characteristics can lead to the determination of

common origin/single source.

Reason (R) : Sufficient number of individual characteristics common in questioned and
standard writings leads to the opinion of common origin.

Code :

(1) Both (A) and (R) are correct. (2) Both (A) and (R) are incorrect.

(3)  (A) is correct, but not the (R). (4) (R) is correct, but not the (A).

55. Z comes home unexpectedly and sees his wife in bed with Y. He becomes enraged and kills Y
with a scissors, which he finds on the table nearby. Which of the following crimes Z has
commited ?

(1) Death by rash and negligent act.

(2) Culpable homicide not amounting to murder.

(3) Culpable homicide amounting to murder.

(4) Voluntary causing of grievous hurt.
56. Cerebrospinal Fluid (CSF) at autopsy may be removed by :

(a) Lumbar Puncture

(b) Withdrawing fluid from cisterna magna

(c) Puncturing the lateral ventricles directly

(d) Passing a plastic catheter in the brain through the nose.

Code :

(1) (a) (b) and (c) are correct. (2) (a) and (c) are correct.

(3) ) and (d) are correct. (4) (a) and (b) are correct.
poszss [ TTHANHLAAN 1 Fapec




52.

53.

54.

55.

56.

AR (A) :  TF o ¥esl o A=Al UH fafy gr1 ar e S ekt ¢ |

& (R) : T3 H a1 Ao RETET Tellgehl WelH SH-grwe Wed (SLu=W.) 2l €|
ST 1wl % e | frfafad # @ w91 e WE § 2

1) (A) 9@ %, afh (R) TeTd T 2) (A) 3R (R) I =& ¥ |

(3) (A) 7T ¥, Wfehd (R) T B | 4) (A) 3R (R) 1 =&t £

Yo & Frafafed yrl § & H-1 el B9 Ted ved 21fys amm= §9 | e S § 2
(1) <fee amh (2) = ke T
() fore e (4) =

AFUHYT (A) 1 SATFITA ToRITATST o T W& FHM YeT/ Tehel T ol T i H Heeoqui ikt
e The 71

e (R) : IRATS AR e aEHl § 9 A Td fosivarstl sl i S 99H €id i T
H wgerqut yfterr frenfa 1

<< :

(1) <2 (A) 3R (R) Tl 1 (2) <F(A) 3R (R) Terd £

3) (A) W& % fohg (R) TTeTd B | 4) (R) S T fFg (A) T T

7, STHEHTA B) Aredl @ a1 379 Teit bl Y o 91 foeat § S@ar €1 98 o< shiferd =1 Sal § 3R Y
I & A R W e W R S €1 Z 1 freafatea § 9 we an ey fean ?

(1) TR iR ATEw! 9 g |

(2) TR SEaT UG g1 i B i SN § el S |
(3) TR TS TG T S g hi At H A T
(4) TR 9 H Wfegs HRO|

WE-gdeT % THY AfE-TEad g9 (e uw.) fefafea § 9 feeess gra foaan s gear € 2
(a) TR YRR

(b) TaeAt T & fse

() Ted dfghe@ &l Y TR W JoR T

(d) T % SR Afess § wfes Hde S

) (a)() (c) W&t ¥ 2) (a) 3R (c) T
(3) () ¥R Hﬁ%l 4) (a) 3R (b) W& T

il 1




57.

58.

59.

60.

61.

Which of the following chemical treatment results in white appearance of latent finger prints ?
(1) Iodine fuming (2) Super glue fuming
(3) Ninhydrin treatment (4) Crystal violet treatment

‘Sear’ is a part of which of the following ?
(1) Lock of firearm (2) Barrel of firearm

(3)  Stock of firearm (4) Ammunition

The muzzle-velocity of bullet fired from AK-47 Assault rifle is :
(1) Less than 2000 ft/sec.

(2) More than 3000 ft/sec.

(3) Lies between 2500 and 3000 ft/sec.

(4) Lies between 2250 and 2500 ft/sec.

Consider following statements about hanging :

(a) Masochistic hanging is a form of suicidal hanging.
(b) Lynching is a form of accidental hanging.

(c)  Suicidal hanging is the commonest mode of hanging.

(d) Another name for sexual hanging is Kotzwarrism.

Code :
(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.
(3) (c) and (d) are correct. (4) (a) and (b) are correct.

Consider following statements regarding cause of death in hanging :
(a) Asphyxia is the main cause of death in complete hanging.
(b)  Occlusion of neck blood vessels is the main cause in incomplete hanging.

(c) Reflex vagal inhibition theory is no more considered a common cause of death in
hanging.

(d) Commonest cause of death in hanging is combined asphyxia and venous congestion.
Code :

(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.

(3) (c) and (d) are correct. (4) (a) and (b) are correct.
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62.

63.

64.

65.

Drum of a photocopier if damaged may result in which of the following type of characteristics ?

(a) Individual characteristics (b) General characteristics

(c) Transitory characteristics (d) Idiosyncratic characteristics
Code :

(1) (a), (b) and (c) are correct. (2) (a) and (d) are correct.

(3) (a) and (c) are correct. (4) (c) and (d) are correct.

The velocity of bullet of -303 Mark VII cartridge fired from -303-rifle is 2440 ft/sec and the
pitch of rifling is one turn in 10 inches. The rate of spin of the bullet when it leaves the
muzzle is approximately :

(1) 2560 revolutions per second (2) 2930 revolutions per second

(3) 3360 revolutions per second (4) 3930 revolutions per second

Weight of dry skeleton in adult human males is :

1) 15kg 2) 45kg (3) 8kg (4) 125kg

Regarding human pelvis, consider the following statements and choose the correct answer
from the code given below :

Ischial length (mm)

x 100
Pubic length (mm)

(a) Ischiopubic index =

(b) Ischial tuberosity is everted in males

Width of Sciatic notch

o ) _ x 100
(c)  Seiatic noteh index = 5 e otch

(d) Chilotic line index is >100 in males

Code :
(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.
(3) (c) and (d) are correct. (4) (a) and (b) are correct.

vosass | {1IEHTHANNAN 2



62.

63.

64.

65.

J-08218

Ife Teh RIRITIER 1 T4 &fqued &l 1 fFefafed § 9 o Jr &t fosivand Sa= 21 bt
g2

(a) AT foRad (b) e TRy

(c) eforen foasroad (d) e oAy

<< :

1) (a), (b) 3R (c) T | 2) (a) 3R (d) W& T

(1)
3) (a) 3R (c) W& ¥ | 4) (o) 3 (d) =& )

303-TEHA ¥ TS T8 -303 HTeh VII HRH i Telt 1 a7 2440 e / Hhve § IR Tgwia foe
%1 Tk IAE 10 $9 & 1 Tielt o A @ § Feherd T9d SHeh! Feh0T T TRIT fehat ST 2

(1) 2560 =[O Yfd Fhve (2) 2930 ¥ gfd Gewve
(3) 3360 ¥ Ufd FHUE (4) 3930 ¥UA Ufq Hewvs

AT HFE YET H Y[k hehlcel ol YR BT © ¢
(1) 1.5 fem (2) 4.5 fwm (3) 8 fwm (4) 125 T

e Ufead & 9 § frefafed werl W faem wifee o) = fou T e § § 9@ s g

sf&=aa e (mm)
a T = 100
(a) sreETfoR —— X

(b) e H sfeaad TR aret ot W Bl §

foafes = =1 <9erE
TN *~ %100
(c) Tomnfew 9= s ra— X

(d) TES § faciifes ored sead >100 BT ©

1) (a), (b) 3R (c) T T 2) (a) 3R (c) T T
(c) 3R ﬂ%"‘f%n (4) (a) 3R (b) T ¥

il z




66. A person was found dead in his flat with gun-shot injuries. The room was bolted from inside.
A window was open. The distance of victim from window was about 1 meter. There was
spread of shots about 10 inch in diameter. From the body, six LG shots were recovered. The
investigating officer wants to know as to what type of firearm was used. In your opinion,
with which of the following firearms, the firing could have been conducted ?

(1) A 12-bore gun with 30-inch cylindrical barrel.
(2) A 12-bore gun with full choke barrel.
(3) A 12-bore paradox gun.
(4) A country made pistol chambered for firing a shot-gun cartridge.
67. Among the Carpal bones, which of the following is last to appear radiologically ?
(1) Capitate (2) Hamate (3) Pisiform (4) Triquetral
68. Which of the following statements is true ?
(1) Modified cordite is semi-smokeless powder.
(2) Modified cordite contains equal amounts of nitrocellulose and nitroglycerine.
(3)  The percentage of nitroglycerine in modified cordite is more than that of nitrocellulose.
(4) The percentage of nitroglycerine in modified cordite is less than that of nitrocellulose.
69. A claymore mine is an explosive device, which is :
(1) Throw-down type.
(2) Itisacurved rectangular box with legs stuck in ground and gives directional shower of
projectiles contained in the explosive material.
(3) Itis kept totally under the ground and explodes when a soldier keeps his foot on it.
(4) Itis placed in a vehicle etc. and explodes when it is lifted.
70. Primary centres of ossification in talus appears at :
(1) 1 month of intrauterine life (2) 7 months of intrauterine life
(3) 3 years (4) 7 years
71. Hyrtl’s law states that :
(1) Total length of sternum in males is >149 mm.
(2) Sternal foramen are twice as common in males as compared to females.
(3) Sternal index is 46.2 in males.
(4) Body of sternum in males is more than twice the length of manubrium.
poszss [ TTHANHLAAN 2 Fapec




66.

67.

68.

69.

70.

71.

SIS AT sigeh ol Tl o =16 ok HRUT 7T Tl H Td 11 71 | HAU 31T 9 g o411 T fagant
ot off | Tt 9 Jaeh i g T 1 HieT off | IR W S o THed 1 AT TR 10 59 61 o1 |
IRR ¥ B TS, wie faet | S 1ferer il =g SIeT =mean o o ford TR o eform o1 wam foman
T 1 39k 3R frafafed § @ fha sfam & wafin it T T2

(1) 12 ¥R &I dgw 9t 30 39 Fell ISTHR A € |

(2) 12 9R i dgeh fSTEh! SRS Fel =1 ¢ |

(3) 12 @R &t TS TH |

(4) TIfe T HRGY I FRR FH & g wr fwan o eh frdie |

ity s1feed § 9 fFafafed § 9 sH-91 eddist 9 999 9 § fe@r ar g ?
(1) ¥ty (FHfree) (2) THe 3) fafgwm (4) fegaea

frfafead o 9 #H-91 e[ 93 © ?
(1) TifewEe FEke Tg-YiRfed s Tl

2) TifewEe Heke H TR IR AESNATRA Ik A/ H 91 S g |
(3) TIfSHEE HefEe H AINHRA i Fiawad AseMedard 9 31 gl 2 |
(4) TITSHEE Hefe § TRNHRA i Ffavmad Tedegard § &H Bl ¢ |

FAHR T Ueh foohieh 99 § S fF gan e

(1)  THeRl ST =TT |

(2) hT STHATRR Ao § FTEeht 21 Siefie W e & St § o¥R it forewres aered # ffeq gaif=i
=1 U ffva foen o S B

(3) Y YU SHH H gemn S g SR Sfehi R SHe W ST IR T & 9% favhe #a g

(4) =9 foreh g, snfe # wan S € iR 59 38 I3 S € A 9 favme s R

sor| o arfeersre o wiafe g femE ea @

(1) FeHRA Sited & 1 718 W (2) ZeefA Sfted & 7 AR W
(3) 3 (4) 79H

Bed o1 a9 e Ao wear 8 o

(1) ool ¥ e (=A9) *i F AR >149 mm Bt T |

2) Tordi %t gor o gmra: gl § wAd W < T S ©
(3) TEU H T T3 46.2 Bl ¥

(4) TEu § SAfey w Sfoem & A G 31fe Bt 7

vosss [T ANENI 2



72. Assertion (A) : While doing photography of a crime scene, physical evidence should be
photographed in closeup view also.
Reason (R) : Overview and close-up photography of physical evidence is important to
study the crime scene in totality.
Code :
(1) Both (A) and (R) are correct. (2) Both (A) and (R) are incorrect.
(3)  (A) is incorrect, but (R) is correct. (4) (A) is correct, but (R) is not.
73. Picric acid is also known as :
(1) Trinitrophenol (2) Cyclo-tetramethylene tetranitramine
(8) Cyclo-trimethylene trinitramine (4) Trinitrophenyl methyl nitramine
74. Which of the following techniques are destructive in nature in examination of ink from a
document ?
(1) TLC (Thin Layer Chromatography)
(2) VSC (Video Spectral Comparator)
(3) ALS (Alternate Light Source)
(4) IR microscopy
75. Identify the correct order in which calcification begins in permanent teeth :
(1) 15t molar, ond molar, 3td molar, Canine
(2) Canine, 2nd jncisor, 2nd premolar, 3td molar
(3) 21d jncisor, Canine, 15t incisor, 2" molar
4) nd premolar, 21d jncisor, 18t incisor, 3" molar
76. Which of the following statements is/are correct with respect to foot-print
examination ?
(a) Latent foot prints may be present on surfaces with floor, carpet etc.
(b) Plaster of Peris is the most preferred material to cast the foot impression.
(c) Race of the person can be determined from foot prints.
(d) Height of the person can be estimated from the foot prints.
Code :
(1) (a) (b) and (d) are correct (2) (a), (b) and (c) are correct
(3) (b) and (c) are correct (4) (@), (c) and (d) are correct
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77. Regarding seminal fluid, consider the following statements and choose the correct answer
from the code given below :
(a) Seminal fluid can be detected by Mab4E6.
(b) Seminal fluid can be detected by SVSA.
(c) Size of spermatic head is 50 X 35p..
(d) Seminal stains cannot be detected if they come from a Vasectomized man.
Code :
(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.
(3) (c) and (d) are correct. (4) (a) and (b) are correct.
78. In striated tool marks, the spacings in between the striations change because of :
(1) Angle of tilt.
(2) Angle of progression.
(3) Both angles of tilt and progression.
(4) Nature of surface on which the tool acts.
79. Match the following :
List - I List - II
(a) Formation of radial and concentric fractures in (i) Safety glass
glass when a projectile hits it.
(b) Used in side and rear windows of vehicles. (i) Molotov cocktail
(c)  When the glass breaks, the fragments tend to (i) Tempered glass
remain in place.
(d) Breaking of bottle. (iv) Window glass
Code
@ ) © @
1) G @@ 0 @
@ G 6 @) @
@) G @) @ o
@ O G @ W)
80. How many layers must be matched before the forensic expert can conclude that the paints
come from the same source ?
(1) Eight layers Ten layers (3) Fifteen layers  (4) No criterion
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77. THE T & R § Frafafead sl w R #ifse i) e for T g ¥ 9 ud sw g
(a) YT T Y UEM Mab4E6 §RI i S Tehell T |
b) Y 9 H TEIH THALTET (SVSA) SR Y ST Fehell B |

) T[ERTY] % MY T TR 50 X 35 w Bl & |

d) IR ¥ Y TEAH el i S Hebdl § Al I et T =afeq 1 & Forwnt Fweidt 2 gt
&

) (a), (b) 3R () TE ¥ 2) (a) 3R () T T
) (o) 3R (d) T R (4) (a) 3R (b) TR R

78. UNER SR faga # anfEdli & ofte 1 gt # siearma frfafed § & forg sror & smar 82
1) ST 1 HI0T |

2)  3TIshHUT Kl IV |

3) 1A TS STIHHUT o Sl I |

4) 39 9UAA hi GH{T F59 T ISR 1 940 3T 7 |

1)
(2)
(3)
(4)

79. TrAfatea w1 gafaa s .
T - 1 T - 11
(a) 39 feufq # g R feaa iR Hafgw R &1 o=, () HHI T
TSl S JATH TEY TR |
b) aTRAl o ard iR fuse fasfral o s | (i) WG Hihed
) T F T2 T TR TheT SHT T W & ¥ (i) HIE P
d) diad 1 e (iv) faer wamg

b
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iv)
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d)
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80. fafu—fagm favvg g o= frewd fHertem & fore o 921 o1 ©iid Weh &1 ®, Tohal wxal k1 e
AT § ?

1) T8 Wd TH WA (3) U=E WA (4) I AURS T

1) (2)
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81.

82.

83.

84.

85.

Automated Fingerprint Identification System (AFIS) is used for which of the following ?
1) To determine the age of fingerprints

(1)
(2) To track the latent fingerprint evidence

(8) To store and retrieve the fingerprint records with the help of a computer system
4)

4) To develop the latent fingerprints with the help of a computer system

In criminal cases involving firearms, one comes across wounds caused by a bullet after
ricochet from a surface. In connection with these wounds, which of the following is
correct ?

(1) There are multiple wounds caused by fragments of bullet.
(2) There are multiple wounds caused by particles of target.

(3) The wound may be larger than caliber of bullet, irregular and Key-holing.
4)

4) There are two wounds because lead core and jacket separate and both cause entrance

wounds.

An unrotated bullet fired from a country made firearm soon loses its velocity,
because :

(1) Its mass changes. (2) Its caliber changes.

(38)  Its ballistic coefficient reduces.  (4) Its length increases.

Assertion (A) : Solvent and microchemical tests have been used to discriminate between
paint layers that are otherwise visually similar.

Reason (R) : Different paint layers have different chemical composition and will, therefore
react differently with oxidizing, dehydrating and reducing agents.

Code :
(1) Both (A) and (R) are correct. (2)  (A) is correct, but (R) is incorrect.

(3) Both (A) and (R) are incorrect.  (4) (A) is incorrect, but (R) is correct.

Which of the following instrumental techniques can be used for mapping of elements
across the cross-section of multi-layer paint ?

(1) FTIR spectroscopy (2) HPTLC
AAS (4) SEM-EDS

(3)
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81.

82.

83.

84.

85.

@a: SEl BIY g9 Yoel (T, 3TE.TH) 1 I9ar f=farad § § foraes fog foan s g2
(1) SiTeh B9 & 7Y o 4R & fag
T ST BT W& Tl WSl hi & g

(2)
(3) forelt Fregex faen =it Wemdl § SfTel B9 Aferal Tl WISRY AR IA: W1 & fag
(4)

4) HFHX foen w TR 9 TgW ATl BU TR S

AT | T[S AT Tmel o fhet g 9 Fh g8 el g1 g¢ =16 91T 9 €1 39 S %
Geier H feAfefad § 9 iF-91 e § 2

(1) 7iiell o gohel g1 1T 9Igd 9 =4 |

(2) &k HU R HIRG ogd 9 = |

(3) M Tiedt % HieteR & wreT, g iR et % SRR H1 & Tehell § |
(4) T HR R ke 3T T | A1 gRI A T =1 & TR € |

4

foRelt el AT | =eTE T8 STEfUTd Tt SO A TS W <At 7, Hieh
(1) U g9H qREfdd S ST el (2) ST Shicer gREfid 81 S €
(3) TR YAV VIR FHAD T S| (4) TR @A 9 NN S |

ANTRT (A) : T SIE fom dreft Ue 1 9l i foemaes e Agshl-shibsa Them ¥ fadfed
e ST €1

e (R) : = e ot Wl o1 qEEfe Geed oTen Bian § iR A stedtersfE, feaefen
den Regfan wrent § f9=1 yehr & foram ot 71

<< :
(1) (A) IR (R) i T2 & 2) (A) T 2, AfFT (R) Tod B
3) (A) 3R (R) I Temd (4) (A)7Ted B, AfRA (R) W& T

frafafad o 9 sF-H Fites fafy a9g-wda Ue ot ST ®e (i 9RM) H qel & #4971 &
fore s § g St § 2

(1) TH.3L.3TE.3R. TSRl (2) TERIATAH.
(3) TUTH. (4) THITA-IELTH.
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86. Which of the following pair is correctly matched ?
List - I List - II
(Common name) (Scientific Name)
(a) Jute (i) Hibiscus cannabinus
(b) Hemp (i) Agave fourcroydes
(c) Henequin (iii) Saccharum officinarum
(d) Kenaf (iv) Corchorus capsularis
(v) Cannabis sativa
Code
@ ®) © (@
O @ v 0 G
@ G 6 @) v
G O ) G G
@ @ v @
87. After brakes are applied, a vehicle produces skid marks on a road. From the length of the
skid mark, speed of the vehicle can be calculated by which of the following formula ?
1) S=(W2ugl @ S=ymgl () S={gL (&) S=Zugl
Where ‘g’ is the gravitational constant,
w = Coefficient of friction of road,
L=Length of skid mark
and S=Speed of vehicle.
88. Regarding human skull, consider the following statements and choose the correct answer
from the code given below :
(a) Frontal eminences are larger in females.
(b)  Occipital protuberance is more prominent in females.
(c) Parietal eminences are larger in females.
(d) Digastric groove is deeper in females.
Code :
(1) (a) (b) and (c) are correct (2) (a) and (c) are correct
(3) ) and (d) are correct (4) (a) and (b) are correct
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86. frefefEd § ¥ =i W&t gafera §2

T - 1 Tt - 11
(T ) (ST W)
(a) I () Tefaera wfame
(b) o (i) ST WHTES
(c) e (iif) EeuH SRR
(d) +® (iv) HThE HARE
(v hHTeE T
<< :
@ (b) (9 (d)
1 @ (v @ i)
2 @) @ ) W
G) @ (v) @) ()
4 @) v @ @

87. O % Sk oM W, de fehe fog T W eiferd it §, fere Tl &t <farg 9 amed =it 7fd
frefafad & 9 fem g2 9 fifa =1 ot 82

1) s=(2)pgl (2 S=2ngl (3 S=.2ugL (4 S=.2pgl

Tel ‘g’ TRy e ¥,
=TS % TF0T T 0T B,

L ="T&re faed =i @ers

3R S=dTed =i Tfd |

88. WMa @ISl o N ¥ fFefafed wedl W faar wifve oik F= fu 71T e # 9 W& s g
(a) TR % IUR o § srgr g 7
(b) ST SUR fori # stferhar yg@ar faw € 81
() wva 3R fordli # o1 B ¥
)

(d) et el ford § wed el g

<

(1) (a), (b) ¥R () el € 2) (a) 3R (o) T ¥
(3) () 3 (d) T & @) (a) 3R (b) T #
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89. A firearms expert received two fired cartridge cases to find whether they have been
fired from same firearm or not. During examination under the comparison microscope,
he found the presence of circles at the base of firing-pin indentations. For positive
opinion, which of the following match is correct ?

(1) Composite match of circles on two cartridge cases.

(2) Side-by-side match of circles on two cartridge cases.

(3)  Superimposition match of circles on two cartridge cases.
(4) Match of individual characteristics other than circles.

90. The condition in which two colours appear similar under one set of conditions but
different under others is known as :

(1) Metamerism (2) Mesmerism (3) Tautomerism  (4) Anachronism

91. The phenomena of bullet shaving is associated with which of the following ?

(1)  Firing of rifles.
(2) Firing of some handguns.
(3)  Firing of test bullets in bullet recovery box filled with cotton.
(4) Firing of bullets in water.
92. Match the following :
List - I List - II
(a) Burking (i) Getting crushed in a crowd
(b) Wedging (i) A larger individual accidentally sleeping over
top of a smaller individuals
(c) Traumatic asphyxia (iii) Combined smothering and Traumatic asphyxia
(d) Overlaying (iv) Compression of body within a narrow space
(v)  Pushing of handkerchief in the mouth
Code
@ ) © @
O @ @ v 0
@ G @) 0O @
(3) () (v) 0 (i)
4 (i) (iv)
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89. e ATATEA foRIva &l <1 9T U WET HRAH U gU § S8 I8 vl o € o a0 og 0 &
STFATE SR 9ETT T § A1 81 | JerTcreh YeHesit qerl o SR favrs 3 urn fof St Wrai o6t i
SN gL o2l o o9 W JAeR-T@ g a1 § | TR Ay w&a ¢ o Fefafed 8 9 &F
o1 e W €2
(1) < BE SRGE R Jadl 1 GG 7 |
(2) TF GE FRGE T W AEe-aE-uEe fHan |
(3) S R sl GuEAIfSTeH el |
(4) I % AT AR foRoarst 1 fHem |
90. 39 TEEeN FI, FoTEH < T T e | df T oY fead €, <ifehd ol 31 vgat 9 9= sremensii &
W—Wﬁ'@ﬁaﬁ%%ﬁ%:
(1) weAfeH (2) HESH (3) <iImfEH (4) TABRIH
91. Tiel I AfET i gfere w1 frfafed § 9 fFod gay §2
(1) USHed i HERT|
2) TS RO & HRERT
(3) ¥ 9 W T Jeie el o H S Foie i HET |
(4) el ST O H wET )
92. fr=fafea #i gafaa s :
Tt - 1 gt - 11
(a) b (@) s H poet
(b) afsT (i) THAEN ¢ Al H1 Bl Al T Al ST
(c) cHfewh THitRfREsT (iii) THETR T e iR SIS vaamY
(d) eT=sIRA (iv) Rt T T IR HT G
(v) e H we ga
<< :
@ (b) (9 (d)
1 @ @ v @
(2) @) @Gv) @) (i)
®) @) (v) @ (i)
4 (v) (@) (i) (iv)
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93.

94.

95.

96.

Assertion (A) : Even the monozygotic twins do not have identical fingerprints.
Reason (R) : No two persons have been found having identical fingerprints till date.
Code :

(1) Both (A) and (R) are incorrect.  (2) (A) is correct while (R) is not.

(3) Both (A) and (R) are correct. (4) (A) is incorrect while (R) is correct.

A normal handwriting in which letters of the word are connected with each other is
called as :

(1) Graphic writings (2) Cursive writings

(8) Printed writings (4) Ambidextrous writings

Regarding human and animal hair, consider the following statements and choose correct
answer from the code below :

(a) Cortex in human hair is 4 -10 times as broad as medulla.
(b) Medulla in human hair is fragmented.

() Medullary index of animal hair in generally more than 0.5.
(

d) Medulla in animal hair is absent.

Code :
(1) (a), (b) and (c) are correct. (2) (a) and (c) are correct.
(3) (c) and (d) are correct. (4) (a) and (b) are correct.

Tsunami lung is :
(1) Death by explosion of lung, as if a tsunami is caused within the body.
(2) Death due to drowning in a tsunami.

(8) Severe systemic infections following aspiration pneumonia caused by near drowning
in a tsunami.

(4) Finding of both lungs separated completely from their bronchial attachments,
seen most often in tsunamis.
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96.
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e

1) (a), (b) 3R () =& T 2) (a) 3R (c) T T

(1)
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(1) %Sl &% W & HRU G Y o IR o e g 3 T 9

(2) FIH H TS S ok RO gs A |
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(4) AT H g I RS IR JeE ¥ I8 a9 TR U I S € |
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97. Match the following :

List - I List - II
(a) Animal fibre (i) rayon
(b) Vegetable fibre (i) silk
(c) Mineral fibre (iii) Graphite
(d) Synthetic fibre (iv) asbestos

(v) Jute

Code :

@ ®) © (@
O O @ @ G
@ @ v @
@) @) O @) )
@) (@) ) @ )

98. Assertion (A) : Blood for grouping is always collected in a liquid form at postmortem
examination, and sent to forensic labs as such.

Reason (R) : Absorption elution is one of the best methods of determination of blood
groups in the context of the two statements.

Which one of the following is correct ?
(1) (A) is correct, but (R) is wrong. (2) Both (A) and (R) are correct.
(3) (A) is wrong, but (R) is correct. (4) Both (A) and (R) are wrong.

99. Simon sign is seen mainly in :
(1) Forcible rape (2) Oral intercourse

(3) Infanticide (4) Complete hanging

100. Which of the following characteristic a handwriting examiner need not to consider
while comparing two handwritings to establish the forgery or otherwise :
(1) ratio of height of the letters.
(2) slant of the writing strokes.

(3) choice of the words writen in the text.

(4) Connections between the writing strokes.
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98.

99.

100.

ffafad i gafeaa wifse
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